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T+ 7+ d
atg AR (kg/m) B A (kg/m) A A= (ke/m)
= /5 9
x g o] o 0.5 0.55 0.60
PD — #140 0.25 0.28 0.30
PD—#140 YA 0.3 0.33 0.36

_53_




=8E
2 3
AlE 75 Ad 3 A
PD — # 140
= &y 0.1
KS M 2609
R e 0.2
LR A A = 24 KS F 4918—-"03
| = 12 dpa.s KS M 6010
Uy = =4 oAkl & KS F 4919
g oA = A " KS M 5320
g o e A ” KS M 5000

U 2 A 0.5 % KS F 2812

_54_



A7t 4™ st fIAIOIAM Al St

2 KS F 40420 "WA|E 2 xbzbz 10kgf/lecm?

tol KS F 4715 ol M

ZH|E 0|83

3=<|
=

b
Al

=
e

FAL
=

(o]
=]

2) &

ct.)

(3) ZIEt

_55_



o

x| 22| X|&

2 X
Bl

H =2t Cf

il
H|

=3
=

=]

al

9]
o],

F Abare

3

HowA A

S|
=

RS

A o]
&

=
< H

s
Fol i} Abg
470l o,

37}
AHEAE
3

B

e} A w

KX
=

A
1

&
1 9]
ol

GBS

o
7

=

N
=

A

374_7(4 o]
-1
3]

=}

=
SHA

F 2 sk A &

; TRE

A - 3
2. AMAL - Y

(e]

=

1.
3.

B

oju

o]

7}sh=
Z= A A

&

FC}.

—

<)

X2zl M

o
T

IFxE9

o) B 3

=
[

TH._.A

2
S

pS|
A

% 2R
o A4 of 1)
T Mo ' ® B o7
m oy T T
N B T T T
"o B of oF N

—_—

AR 717 7hA) w1l /13

%Eﬂw
R om

- o N e

" BF rH

—_—

1oR O oR

= ANr R

Hi+=2 253870

7(-II7:-II

2 H

b

Wi
™ o
m <
W) T
IR
o"_o o_ o
"o @
- o %H
EL oy B
Mo o %I
N o
o

]

]

o
_
N

N4
i

<
Ul

P29

[<]

ANEEZ A

5.

_56_

Ape]

e A

b ALY

0]
pal

=i
=

A8
)

b |




7ol

i

ujo

L
__Rﬁ
1|
o
R~

J

)

t

2PN

=

2435
=

F

S

Ck oAl

Atgt

Zio|2k BlE| 27t 2t 2

Y.

2Ex7IFH=E7I.

—_
[

(o)
=

SHX| 27| mh

=

2) FH[AAL

: KS F 4715

| =
—_

7H

I3
=

@© Al

(@)
I

=
e |

@ Al

AUETLHKS F 4042 off -

1+

FCF

0|2t olofof &

-
.

7OF

70

_57_



<E> EZ2|{ A\ME 2 2Et29 ZZJ|FE(KS F 4042)

A" ¥ 5 F A 7 &
AHE &318 E8H o 138 E (%) FEAIA £1 (%)oY
A7 (kef/cm) 61 o]+
AT % (kef/cm) 204 oA}
B2 5 (kgf/cr) 10 o]
/33t A (mm) 2.0 o]s}
E FFA [ke/(m - h%0)] 0.5 o]3}
A3l Eo]e HEFEAIA (Coulombs) 1,000 ©]&}
Aol (%) +0.15 °]u
L A E AlE
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